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SCHOLASTIC APTITUDE TEST

Dandi is situated on a bank of the river
1) Yamuna

2)  Sabarmati

3)  Narmada

4)  Tapi

When did 2% five year plan start?
1y 1961

2) 1951
3y 1936
4y 1966

When was Planning Commission
established?

1) 1950
2) 1953
3) 1956
4 1960

When did Indian constitution impliment?
1) 25 January 1972

2) 15 August 1947

3) 15 April 1948

4) 26 Januvary 1950

Where did Indias Ist Cotton Mill
established in 1954 ?

1) Bombay

2) Caleutta

3)  Delhi

4) Banglore

Shanti Niketan Organisation which was
started in 1901 who was its founder?
1) Jawahar Lal Nehru

2) Lala Lajpat Rai

3) Rawvinder Nath Tagore

4) Bal Gangadhar Tilak
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Q.7

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

2

Who was the founder of Brahme Samaj? -

1) Swami Dayanand Saraswati
2) Raja Ram Mohan Rai

3)  Swami Vivekanand

4)  Virjanand

Who has given a slogan “Jai Jawan Ju
Kishan™?

1) Lal Bahadur Shastri

2) Sardar Balabhbhai Patel

3) Bhagat Singh

4) Chander Shekhar

What was old name of Chennai?
1) Pataliputra

2)  Mysore

3) Banavas

4) Madras

Ajmer is situated in which state?
1) Gujarat

2) Muaharashtra

3) Rajasthan

4) Madhya Pradesh

Golden Temple is situated at
1) Amritsar

Ludhiana

Ambala

Jalandhar

3)
4)

Holi book (Granth) of Muslim is
1) Birbal

2)  Macca Madina

3) Geeta

4)  Kuran Sharif

Who is the Constiutional head of the
State”

1) Chief Minister

2) Governor
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e prestanay ALY AGHLEAEL DU 4) fa_qu eIy

)14 When is did International women day

W4 s wieen fae fas fe waen

celebrated? &
1) 8" March . -
2) 5" Jjune ;g § g
4) 1" December 4) | famEn
.ﬁamkgﬁmgma"asn i) %5 et e e 8
Labir Das -
2)  Rahim 13 A )
3)  Kalidas )
4) Tulsi Das 3) el
e 4) gerfEm
16 Nam;-;tycéplaceu'hcreGumNanakDev W16 6 A 9 S T4 & e
was born? e :
1) Talwandi(Nankana Sahib) 1 - (T ; )
2) Harminder Sahib Amritsar 2) ¥ _:! Wi SR
3) Lahore 3) TR
4) Islamabad 4) TEAHER
Classical Dance Bharatnatyam is a7 “;!E“'Iﬁ. PN R waw A A
associated o which state? ¥
I) Karnatka 1) FAREE
2) Kerala 2) FTH
3) Tamilnadu 3) afwerrg
4) Andhra Pradesh 4) STYHYRE
When did Nadirshah *The Emperor of .18 ‘3% % v’ Afee wie F fwedt w %=
Iran’ attack Delhi? syreReor femar o1?
y 1756 1) 1756
2) 1739 2) 1739
3) 1857 3) 1857
4) 1885 4) 1885
Which i_'z, danger for Environment? 719 T F-w v fe s 37
1)  Animal growth 1) e
2) Crop growth 2) FHA G
3)  Plant growth 3) U=y



Q.20

Q22

Q.23

Q.24

4)  Population explosion

Which is responsible for Green house
elfect?

Iy Oxygen

2)  Ozone

3)  Carbon dioxide

4) Nitrogen

Stapi Grassland are in
1} Middle Asia (cast)
2)  South Africa

) Australia

4)  EastAsia

Caleuttas situated on the bank of which
river?

1) Bhagirathi

2) Ganga

3)  Brahmaputra

4} Hugh

“Kibrel™ is famous for
1) Platinum

2) Silver

3)  Diamond Mines
4y Coal Mines

[Ladakh is what tvpe of desert?
1) Cold

2y Hot

3) Moderate

4)  Humid

Tipu Sultan was a son of
1) MirJaffar

2y laider Ali

31 Sirajudhola

4) Tamur
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The Governor General who started
Permanent Settlement?

1) Rober Clive

2) Lord Hastings

3) Lord Corjon

4) Charles Karenwallis
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2) 2 B

3) T A
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When did Delhi become the Capital of w27 faweh fafew g 1 wawse fam ad i

Britsh India?
1) 1911

2y 1916
3) 1905

4) 1926

Who was known as the Father of Indian
Constitution”?

) Dr. Rajender Prasad

2)  Dr. Bhim Rao Ambedkar

3) Pt Jawahar Lal Nehru

4)  Mahatma Gandhi

Total Elected members of the Lok Sahha
are

1) 343

2y 3552

3) 524

4) 512

0 Where is Indian Supreme Court situated”?

Mumbai
Chennai
Chandigarh
Delhi

1)
)
3)
4

Article in which “Right 10 live” is
mentioned?

1y Article 14

2) Article 18

3)  Article 21

4)  Articel 32
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Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

B

Who was "' Indian Deputy Prime
Minister?

1) Pt Jawahar Lal Nehru

2) Balabh Bhai Patel

3)  Jakir Hussain

4)  Dr. Radha Krishanan

Who has established Khalsa Panth?
1) Guru Arjun Dev

Guru Teg Bahadur

Guru Govind Singh

Guru Angad

3)
4)

Origin of Bengali language 1s
1) Sanskrit

2)  Hindi

3)  Panjabi

4)  Urdu

*World Environment Day’ is celebrated on
0
2)
3)
4)

26" January
5" June
31" March

8" September

255+ 0.5 is equal to
(1) 5.1

(2) 0.51

(3) 51

(1) 0.051

%o age form of 3 IS

(1) 1.25%

(2) 12.53%
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Q.38

Q.39

Q.40

(3) 125%

(4) 0.125%

Standard form of 4, 50, 75, 98, 000 js: 38
(1)4.507598 =<10°
(2) 4.507598 =10
(3)4.507598 =10*
{4) 4.507598 = 10*
.39

Inaclass, 8 students weigh 308 kg. The
weights of 7 students are 35, 42, 38, 36,
40, 37 and 41 kg, What is the weight of
8" student?

(1)40 kg
(2) 38 kg
(3) 39 kg
(4) 41 kg

I was 35 years old 5 years from today. %40
Today I am 5 times the age of my son.
What is the age of my son today?

(1) 6 years
(2) 4 years
(3) 8 years

(4) 12 years

(3) 125%
(4) 0.125%

4, 50, 75. 98. 00031 i = 3
(1) 4.507598 <10°

(2) 4507598 *10°

(3) 4.507598 *10%

(4) 4.507598 > 10

T HY W § BOH H e 97 308 f
¥17 B F WE 35, 42, 38, 36 10 37
awm 41 ¥ ) 3w e 9w
(1) 40 f&m

(2) 38 fam
(3)39 I

(44 f=m

5 ard g Tt 37Ty 35 A eft | s A
A T R A S O
= ot 87

(1) ¢ am

(2) 4 = oy
(3) 8 =

(4y 12 =
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g 41 Inthe given figure. lind the value of x.  ¥41  =F 78 sl 1 -x" 51 W= 50 Hi

(1) 60° ' (1 60°
(2)55° (2) 55
(3) 100" (3) 100
DRI () 115°

Q.42 What is the diameter of a circle having W42 3 99 1 =99 241 w01, s 50

area as 25w em*? 25 aT HA B2
(1) 5 em (1)s &3

(2) 50 em (2) 50 BT

(3) 10 cm (3) 10 A,

(4) 15 cm (4) 15 A7

Q43 A person deposits Rs. 3000/~ in a bank ¥43 U =i sl 3% 9 8 Y @it qsml

=1 s 1 A y 1] . . - -
at the simple interest rate of 8% per I AL ° 3000 F S L & aH 2

annum. How much interest will he get
i ad wyamE e wm =ars foem?
alter 2 years?

(1)240/- ¥,
(1) Rs. 240/-

(2) 480/~ ¥,
{2) Rs, 480/-
(3) Rs. 120/- (3) 120/~ &,
(.‘“ RS 7201"- {4) 720/- %,



Q.44 In the figure / || m. what are £1 and

Q.45

Q.46

Z2 called?

(1) Corresponding angles
(2) Exterior angles
(3) Interior angles

(4) Alternate angles

Ifx =-2, y=-1. then what1s the value
of (x—y)* ?

(19
@1
(3) -1

(4) -9

The marked price of a sweater is
Rs. 800/~ which the shopkeeper bought
from wholesaler for Rs. 500/-. I the
shopkeeper sells the sweater after giving
discount of Rs. 100/-, how much profit
the shopkeeper carns?

(1) Rs. 100/-

(2) Rs. 200/-

W44 TR sEfa A, /|m B, £1 H L2 =

e wam & =0 TRl 7

(1) Himd sl
(2) ST vl
(3) 370z &I
(4) W

g x = -2,y 1. A8 (x-y) FEaw

& 7
(Ho
{2)1
(3) -1

(4) -9

TH FFEN TH H2 A faswa |
500 Fo T EIEHL IH YL 800 Fo oA
sifera e 21 Al qeban g8 wde o)
100 Feo 2 G FHM F, Al 3 T Ay
gt &7

(1) 100 %o

(2)200%
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Q.47

Q.48

Q.49

Q.50

(3) Rs. 50/-

(4) Rs. 300/-

What is type of number 3 ? wa7
(1) lrrational number
(2) Repeating decimal number
(3) Non-repeating decimal number
{4) Terminating decimal number
What is the value of x in T4
1 20 5 4
T e Al
(1)4
(2)6
(3)8
(4)12
What is the cube root of -0.729 o
(1) 8.1
(2) -8.1
(3)09
(4)-0.9
q.50

What is the value of linear pair of angles?

(1) 90°
10

{3) 50 %o

{4) 300 Fo

(2) #verd] =9rTerd e
(3) ST YT W

(4) Hid T HE

=N

=

20
x+~?—-‘~ X== H x W 3 &

~ |-
3 [un
~3

(h4
(2)6
(3) 8

4 12

~0.729 1 yqa freen 87
(1)81

(2) 8.1

(3)0.9

(4)-0.9

U T g F S A R @ §?

(1) 900



(2) 2707
(3) 180"
(4) 360"

(a+b)! + (a— by s equal to:
(1) 4ab

(2) 2a3.+ 2b*

(3a’+ b’

(4) —4ab

- What is the probability of getting “Head’
when a coin is tossed?

(1
]
(2) 3

(3)0
ol
O

7.1

W.52

The product of two numbers is 512 and .53

their LCM is 32. What is their HCF?
()4
(2)2
(318

(4)6

(2) 270¢

3y 1800

(4} 360" |
(a + b)? + (a— by TaT ¥:
(1) 4ab

(2) 2a* + 21

(3 a*+ b

(4) -4ab

e o T W Head” W9 0 #]
it fael &7

(1
1
(2) 5

(330
1
(4) 2

2 HEmE O 512 ¥ i 3T
FEE, 32 € 1 Sl 0, S

(1)4
22
(3)8
(4)6




Q.34 Inthe given figure. What isthe value of x 2 W.54 21 78 3rhfa 0, x il 1 @41 #7

(1) 80" (1) 80
(2) 100° (2) 1000
(3) 60° (3) 601
(4) 90° ’ (4) 90¢

Q.55 The base and a side of an isosceles v 55 neF AAigEE e w0 s e uF e
tri'unglg are 6em a.nd Se¢em r_t:lspccuvcl). e e N I F
t\a:l:ndgtl:; the perimeter of isosceles et Faoet 1 wfom s =12
’ (1) 18 em (1) 18 F.H1.
(2) 14 ¢m (2) 14 F W),
(3)12cem (3) 12 A #I.
i (4) 10 A3,

Q.56 From which law of Sir lsaac Newton ws5e =7 aidys Fed & (w9 Fam 4 oo &

comes the definition of Force? afrvar #1 3eqfa &2 &7
1 g“’*“ | 1) aEe
? s )

3) dEm

4 All of these . —
| ok 4) Iy A A
Q.57 Which of the following factors of the g7 98 & wafq % f&g g 4aiq (e Al
sound help us recognize the voice of a Y ayETH H YESE F o gl 2/

person? 1) waeEd
1) Loudness '



Q.60

Q.6l

W.0a

2y Pich
33 Quality
4y Intensity

What is the surface temperature of Sun
in Kelvins?

1) 4000"k

2) 6000 K

3) 50000k

4) Not known

How many joules make up a calorie?
1) 42
2y 4.0
3) 45
4) 4.8

Which of the following is nat related to
work”

1) Nm

) Vs

3) ]

4 Ws

Which of the following particles are
tihely o be displaced when two
substances are rubbed together?

1) Electrons

2y Protons

3) Neutrons

4)  None of these

Which of the following waves bats use
to detect the obstacles in their path”?

1) radio waves

2)  electromagnetic waves (e.amn.)

3) ultrasonic waves

4) infrared waves

Ul the tollowing  what encrgy
transformation takes place in a Solar cell.

T.58

.59

U560

.61

762

063
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2) It
3) T
4) @

T & TaE ) oarmE e A e
Bl &2

1) 4000 k

2) 6000" k

3) 5000" k

4) T e #

wF Fe § e @ A €7

1) 42

2) 4.0
3) 45

4) 48
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Q.64

Q.65

) 66

Q.67

Q.68

1) light energy into heat energy

2)  light energy into electrical energy
3) electrical energy into light energy
4) heat energy into electrical energy

What change would their be in the
werght ot a body if gravitational accel-
eration at that place is doubled?

1) remains unchanged

2)  twill be halved

3) it will be doubled

4) it becomes lour times.

Atoms are composed ol

1) electrons only

2) protons only

3) electrons and protons
4) electrons and nuclei.

Which of the following acids is consid-
ered to be the basic chemical of an
industry?

1) Hydrochloric acid (1HCL)
2)  Nitric acid (HNO,)

3) Sulphuric acid (H,SO,)
4)  Oxalic acid (COOI),

Which of the tollowing elements is not
present in Stainless Steel?

1) [lron (I'e)

2) lLead (Pb)

3) Carbon (C)

4y Chromum (Cr)

Addition of which of the following
particles does not change the chemical
properties of an Atom?

1) Electron
2y Proton
3)  Neutron

.04

H.65

W7

H.68
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Q.69

Q.70

Q.71

Q.72

Q.74

4) Nane ol these

Which of the following is neither an
element nor a compound?

1) Mercury A

2y Sodium Carhonate

3)  Water

4) Air

Which of the following pair of elements
is'present in our teeth and bones?

1) Ca, Mg

2) Ca K

3) Ca.P

4) P.S

Which of the following gases is evolved
in volcanic eruptions?

1) Sulphur dioxide (SO,)

2)  Helium (He)

3y Chlorine (Clj

4) Niwogen (N,)

Name the variety of coal which contains
traces of original plant material?

1) Anthracite

2) Peat

3) Lignite

4) None ol these

Which of the following goes milky/
cloudy when carbon dioxide (CO,) gas
is bubbled through it?

1) Sea water

2)  Hard water

3) Distilled water

4)  Lime water

Which of the following colour is caused
by corrosion of Copper metal?

".69

W.70

»r

w72

973

R.74
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Q.75

Q.76

Qrl

Q.78

0.79

1) Blue

2y Green
3) Black
4)  White

Which element is common to all the
acids?

1) O (Oxygen)

2) N (Nitrogen)

3) H (Hydrogen)

41 U (Carbon)

Which of the following is not a
carbohydrate?

1) Sugar

2) Ghee

3)  Glucose

4)  Starch

Which of the following elements is
present in greatest amount in the human
body?

1) Nitrogen (N)

2) Oxygen ()

1) Carbon (C)

4y Hydrogen (11)

Which of the following 15 a tissue?
1) Liver

2)  Skin

3)  Small intestine

4) Blood

Which of the following is not required
for photosynthesis?

[) sunlight

2y chiorophyll

3) O,

4) O,

W75 THI-H1 e 9l 3l 09 Sl 62

H.76

977

q.78

w.79

1) ten
2) &
3) e
4) WHE

1) 3wEEREE (O)
2) A (N)
3) BIEBIEA (1)

1) A (C)

TG § HA-H HEFEIE T8I 77
1) ¥R
2)

3) TeERIA
4) =

FTH 3 - A e w e H A sl

T A B

1) AE2EE
2) ST
3) HEA
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1) H&d
2) =
3) BE A
1) T

IH q FA-| Y9 e F e -

afie g 27
1) FETEY
2) FAEe
3) Q,
4) CO,



Q.80

Q.81

Q.82

Q.85

. 3)

4)

Rickets is a disease of the:
1)  Muscles

2y Tissue

3) Bones

4) Skin

Which of the following processes does

q.80

w81

not increase the amount of Carbon

Dioxide in air?

I} Aerobic decay of vegetation
2) Photosynthesis

Breathing

4) Burmng of Petrol

Which of the following mircro
organisms cause Malaria?

1y Virus

2) Bacterium

3) Protozoan

4) Fungus

What are hairs. fingernails and hoofs
made up of?

1) Bones

2) Proteins

3) Cartilage

None of these

What is the range of life cycle of Red
blood corpuscles (RBC)?

1y 100 days

2) 110 days

3) 90 days

4) 120 davs

In order to recover the loss of mineral
contents of soil which of the following
measures is not applicable?

1} use of Pesticides

.82

a3

.84

H8s
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Q.86

Q.87

Q.88

Q.89

Q.90

2)  using fertilizers
3)  using Biogas residue
4) Crop rotation

The basic unit of speed is
1)
2)
3)
4

m'/s

Which of the following elements is
present in domestic salt?

1) Oxygen

2)  Magnesium

3) Carbon

Sodium

Which of the following elements is
present in water?

1y Carbon

2) Nitrogen

3) Hydrogen

4)  Phosphorus

Who invented electric bulb?
1) I. L. Baired

2)  Marconi

3) Newton

4} Edison

Which of the following discases is
caused due to bite of mosquito?

1) Cholera

2) T.B.

3) Malana/Dengue

4) Anaemia
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